


1. TCS41 氣動式切帶裝置 Pneumatic Type Tape Cutting Device
序 號 物 料 編 號 名 稱 單位用量
Ref.No. Parts No. Description Amt.Req.

1 4TCS410101 支架 Knife Holder Bracket ---------------------------------------------------------------------------------------------------------------------------------1

2 4TCS410102 支架 Knife Holder Bracket ---------------------------------------------------------------------------------------------------------------------------------1

3 4TCS410103 支架 Knife Holder Bracket ---------------------------------------------------------------------------------------------------------------------------------1

4 4TCS410104 支架 Knife Holder Bracket ---------------------------------------------------------------------------------------------------------------------------------1

5 4TCS410105 支架 Knife Holder Bracket ---------------------------------------------------------------------------------------------------------------------------------1

6 4TCS410106 前蓋 Front Cover ---------------------------------------------------------------------------------------------------------1

7 4TCS410107 成型導模 Folder ---------------------------------------------------------------------------------------------------1

8 4TCS410108 支架 Knife Holder Bracket ---------------------------------------------------------------------------------------------------------------------------------1

9 90PW030708 墊圈 Washer ---------------------------------------------------------------------------------------------------------2

10 8MB03200806K 螺絲 Screw (C06-23 M3-0.5*8) ------------------------------------------------------------------------------2

11 4TCS410111 支架 Knife Holder Bracket ---------------------------------------------------------------------------------------------------------------------------------1

12 4TCS410112 支架 Knife Holder Bracket ---------------------------------------------------------------------------------------------------------------------------------1

13 8MB04280508A 螺絲 Screw (UTB2-01-27 M4-0.7*5.5) ------------------------------------------------------------------------------2

14 8MB04280608A 螺絲 Screw (UTB1-01-30 M4-0.7*6) ------------------------------------------------------------------------------2

15 8MM04281207A 螺絲 Screw (C02-02 M4-0.7*12) ------------------------------------------------------------------------------1

16 4TCB410203 吹氣管 Blow Tube ------------------------------------------------------------------------------------------------------1

17 4TCS4101171 針鈑座 Needle Plate Seat ------------------------------------------------------------------------------------------------------1

18 4TCS410118 支架 Knife Holder Bracket ---------------------------------------------------------------------------------------------------------------------------------2

19 8MB04280807K 螺絲 Screw (C02-15 M4-0.7*8) ------------------------------------------------------------------------------4

20 4TCS410120 固定座 Bracket Holder -------------------------------------------------------------------------------------------------------

21 8MB03200606A 螺絲 Screw (UH01-62 M3-0.5*6) ------------------------------------------------------------------------------2

22 4TCS410122 軸 Shaft ------------------------------------------------------------------------------------------------------1

23 4TCS410123 簧片 -------------------------------------------------------------------------------------------------------

24 8MB03200305A 螺絲 Screw (US040-01-11 M3-0.5*3.5) ------------------------------------------------------------------------------2

25 2120000921 定位環 Collar ------------------------------------------------------------------------------------------------------2

26 8MN04280400A 螺絲 Screw (C02-29 M4-0.7*4) ------------------------------------------------------------------------------2

27 4TCS410127 下座外蓋 Cloth Plat ---------------------------------------------------------------------------------------------------------------------------------1

28 4TCS410128 支架 Knife Holder Bracket ---------------------------------------------------------------------------------------------------------------------------------1

29 90PW040 墊圈 Washer ---------------------------------------------------------------------------------------------------------2

30 8MM04281007A 螺絲 Screw (F02-03 M4-0.7*10) ------------------------------------------------------------------------------3

31 8MK05321909G 螺絲 Screw (UT12A-05-11 M5-0.5*18.5) ------------------------------------------------------------------------------1

32 4AL013002 節流閥 (ψ4-M5 ) Speed Controller -----------------------------------------------------------------------------------------------------------------------2

33 4TCS410133 氣壓缸 Cylinder -------------------------------------------------------------------------------------------------------------------1

34 8MA06400510A 螺絲 Screw (CT0533 M6-1*5) ------------------------------------------------------------------------------1

35 4TCS41A0135 氣壓缸組 Cyliner Asm---------------------------------------------------------------------------------------------------------------------------1

36 4TCS410136 定位環 Collar ------------------------------------------------------------------------------------------------------1

37 8MN03200400A 螺絲 Screw (UH01-25 M3-0.5*4) ------------------------------------------------------------------------------1

38 4RP006A0128 接頭組 Ioint Asm ----------------------------------------------------------------------------------------1

39 4TCS410139 連桿 Link ------------------------------------------------------------------------------------------------------------------------------------1

40 8MM85241006A 螺絲 Screw (C96-02-39 M3.5-0.6*10) ------------------------------------------------------------------------------1

41 4TCS410141 減震墊 Rubber cushion ------------------------------------------------------------------------------------------------------------------------------------1

-2-





1. TCS41 氣動式切帶裝置 Pneumatic Type Tape Cutting Device
序 號 名 稱 單位用量
Ref.No. Description Amt.Req.

42 導模組 Folder Asm. -------------------------------------------------------------------------------------------------------

43 導模組 Folder Asm. -------------------------------------------------------------------------------------------------------

44 導模組 Folder Asm. ------------------------------------------------------------------------------------------------------1

45 螺絲 Screw (C06-25 M6-1*16) ------------------------------------------------------------------------------2

46 螺絲 Screw (C06-32 M5-0.8*14) ------------------------------------------------------------------------------2

47 螺絲 Screw (C11-45 M5-0.8*8) ------------------------------------------------------------------------------2

48 螺絲 Screw (RP101-11 M5-0.8*16) ------------------------------------------------------------------------------2

49 螺絲 Screw ( CT1237 M4-0.7*10)----------------------------------------------------------------------------2
50 墊圈 Washer ---------------------------------------------------------------------------------------------------------------6
51 盂形墊圈 Disk Washer ---------------------------------------------------------------------------------------------------------2

52 螺絲 Screw (UT12A0126 M4-0.7*7) --------------------------------------------------------------------------------2

53 螺絲 Screw (CT0239 M4-0.7*12) -------------------------------------------------------------------------2

54 墊圈 Washer ---------------------------------------------------------------------------------------------------------------4

55 墊圈 Washer ---------------------------------------------------------------------------------------------------------------2

56 導線 Thread Guide ---------------------------------------------------------------------------------------------------------------------------------------------1
57 導線桿 Thread Guide -------------------------------------------------------------------------------------------------------------------------------------------4
58 螺絲 Screw (FT0548 M3-0.5*4) -------------------------------------------------------------------------------------------------------------------------------6

59 導模 Edge Guide ------------------------------------------------------------------------------------------------------------------------------------1

60 導模組 Folder Asm. -------------------------------------------------------------------------------------------------------

61 支架組 Knife Holder Bracket Asm. ---------------------------------------------------------------------------------------------------------------------------------1

62 導模組 Folder Asm. -------------------------------------------------------------------------------------------------------

63 固定座 Bracket Holder -------------------------------------------------------------------------------------------------------

64 導模組 Folder Asm. -------------------------------------------------------------------------------------------------------

65 導模組 Folder Asm. -------------------------------------------------------------------------------------------------------

66 簧片 -------------------------------------------------------------------------------------------------------

67 導模組 Folder Asm. -------------------------------------------------------------------------------------------------------

68 導模組 Folder Asm. -------------------------------------------------------------------------------------------------------

69 導模組 Folder Asm. -------------------------------------------------------------------------------------------------------

70 導模組 Folder Asm. -------------------------------------------------------------------------------------------------------

註: TCS41□，請依所需鬆緊帶規格寬度，填入(A~C)訂購裝置

規格 A Type : 31.8 mm (1-1/4")

20 23 42 43 60 62

1 1 1 1 1 1

規格 B Type : 35 mm (1-3/8")
63 64 65 66 69 70

1 1 1 1 1 1

規格 C Type : 38.1 mm (1-1/2")
63 64 65 66 67 68

1 1 1 1 1 1

用量 Req.

序號 Ref. No.

4TCS410163

4TCS41A0164

4TCS41A0165

4TCS410166

4TCS41A0167

4TCS41A0168

4TCS41A0161

4TCS41A0162

4TCS41A0142

4TCS41A0143

4TCS41A0144

序號 Ref. No.

8MB04281207K

90PW050

90PW060

4TCS410156
2270000364
8MB03200405A

4TCS410159

4TCS41A0160

8MM05320809A

8MM05321609A

8MB04281007K
90PW040
90DW040

8MK04280707A

物 料 編 號
Parts No.

用量 Req.

4TCS41A0169

4TCS41A0170

序號 Ref. No.

用量 Req.

TCS41□ : According to the width of elastic tapes, then ordering required device under specitication of A,B,C.

8MM06401610A

8MM05321409A

-4-





2. TCS41 空壓組件 Compressed Air Components
序 號 物 料 編 號 名 稱 單位用量
Ref.No. Parts No. Description Amt.Req.

1 4TCS410201 自動切帶及送帶組 Auto Cutting and Re-Insert ( MCA-20K-MT )---------------------------------------------------------------------------------------------------------------------------------1

2 91060101007 空氣管(ψ4 長 3200mm ) Air Tube ----------------------------------------------------------------------------------------------------------------------1

3 8MP06401211A 螺絲 Screw (UTB1-03-02 M6-1*12) ----------------------------------------------------------------------------------------------2

4 4AL0040112 輔助板 Supplementary Plate ---------------------------------------------------------------------------------------------------------------------------------------1

5 8MA06400408A 螺帽 Nut (U202-10 M6-1*4) --------------------------------------------------------------------------------------------------------------------------------------2

6 4UT12AA0348 氣壓缸組 Cylinder C.Set ---------------------------------------------------------------------------------------------------------1

7 4UT12A0324 氣壓缸 Cylinder -------------------------------------------------------------------------------------------------------------------1

8 4UTB000305 節流閥 (ψ6) Speed Controller -----------------------------------------------------------------------------------------------------------------------2

9 8MA27800835A 螺帽 Nut -----------------------------------------------------------------------------------------------------------------------------1

10 8MA10600613A 螺帽 Nut ----------------------------------------------------------------------------------------------------------------------------1

11 4UT12AA0328 氣壓缸組 Cylinder C.Set ---------------------------------------------------------------------------------------------------------1

12 4PFE010113 套管 Clutch Sleeve --------------------------------------------------------------------------------------------------1

13 8MM06401510A 螺絲 Screw (M08-45 M6-1*15) -----------------------------------------------------------------------------------------------2

14 2100000323 墊圈 Washer -----------------------------------------------------------------------------------------------------------2

15 4AL0040101 固定座 Base --------------------------------------------------------------------------------------------------------------------------1

16 4AL013002 節流閥 (ψ4-M5 ) Speed Controller -----------------------------------------------------------------------------------------------------------------------1

-6-


